KOHLER.

INSTALLATION AND CARE GUIDE
Jolu:unmsaadvla:Mmsqiasnu

TOOBI WASHBASIN CABINET
QIWosUmosansuoIvavrKun sund

K-45470X/K-45472X/K-25265X-YY

BEFORE YOU BEGIN

¢ Please read these instructions carefully to familiarize yourself
with the required tools, materials, and installation sequences.
Follow the sections that pertain to your particular installation.
This will help you avoid costly mistakes. In addition to proper
installation, read all operating and safety instructions.

¢ All information in these instructions is based upon the latest
product information available at the time of publication.
Kohler China. reserves the right to make changes in product
characteristics, packaging, or availability at anytime without
notice.

¢ These instructions contain important care, cleaning and warranty
information - please leave instructions for the consumer.

¢ TOOBI washbasin cabinet adopts E1 grade wood-based panel
of high quality, and with further processing, its harmful
emissions will be less than 1.5 mg/L.

¢ Turn off the water supply.

e The pluming installation must comply with Water Supply
Regulations/Bye-laws, Building Regulations or any particular
regulations and practices, specified by the local water
company or water undertakers.The installation should be
carried out by a plumber.

* Before installation carefully inspect the new fixture for any
signs of damage.

ORDERING INFORMATION

This installation covers the following products in the TOOBI
range:

TOOBI 890 mm Washbasin Cabinet.............cc.......... K-45470X
TOOBI 590 mm Washbasin Cabinet............ccc......... K-45472X
TOOBI 790 mm Washbasin Cabinet.................... K-25265X-YY

NOTE: The bathroom furniture feet (K-45405X-NA) is not
included.

SAFETY: WARNINGS

Kohler products are precision-engineered and should give

continued superior and safe performance, provided:

1.They are installed, commissioned, operated and maimtained
in accordance with the recommendation given in this Manual.

2. Periodic attention is given, as necessary, to maintain the
product in good functional order. Reccomended guidelines
are given in the MAINTAINANCE section.

Carefully inspect the new fixture for any signs of damage.

When installing Kohler Products, manufacturers guidelines for
power tool safety should be followed.

' < a <

NAULTHNITANRAN

. Tﬂ?mmwﬂ@LLuym’luﬂum@uuslm L@ﬂmmummwammmmmmﬂ
m_lLmimumm”qmaﬂmmmmLﬂumummumﬂummmmmm
ﬂgummm@LLu.ummmmm'amdLm\‘immwwaﬂmmmﬁm@wm

uanaIndauusinnN1IRAMI Iﬂi‘ﬂ@’]uﬂ]‘ﬂLLuvuﬂLﬂEIQﬂ‘Llﬂ’]ﬂ“ﬁ\'i’]u
uazdiauuzinmuilan mﬂﬂmummmumu

. m@m’Lummummnmamm@mmmmmwmﬂumwLqmmsf»\mwmw
‘LIﬁ“lel’ﬂ mmmauawﬂumuﬂ@wuﬂmmmmarﬂﬂmm mmnmmwu
Tnefeaudalimauaamiin

o

. ﬂmmuumﬂmmmmmmﬂumimmmm N1INIANNELRA
WaznI9sueeiu Iﬂmmmmﬂmmmm

e mvdmuwaimmumqmwm a?u‘wu N@ﬁ]’mﬂ')@ﬁ‘ﬂﬂ@ﬂ@mﬂiﬂ
HIMTTIU E1uay NﬂEﬂT’]ﬂ’]i‘ﬂﬂ@ﬂﬂ’]sﬁw‘ﬂﬁdﬂﬁﬂiﬂﬂﬂﬂmiiﬂLﬂu
1.5 AANTUFADARNT

o HanndariniauiEunissiac
. Lu@m@mﬂiwﬂﬂmmmn@ﬂgumrmmmmuum‘vuuﬂivmm@muum

'ﬂ’]ﬂ’]ﬁ‘ﬁﬁ‘ﬂﬂﬂﬂ’]ﬁuﬂLLNVT]{]’J“ULU?;IU'EM’] mmuum%ﬂm«,mqmm
ﬂqi‘[”lﬂﬁm‘ﬂﬂﬂi‘vﬂﬁﬁl‘ﬂ\iE’]’]Luuﬂ’]ﬂﬂﬂﬂ%‘iﬁﬂ“ﬁ’?u’?mﬂ’]i‘L‘V]’WLL‘LA

v
o

AFIRAAUAINLRLUN UL ARSI AR UE NN R AR

. v
o [

WBYANITAITND
fauuztiynisinfanazaduneseliiaseauaguienaninel i
Asialali:

Filaflinaiduiuansdrendi fuyi aunn 890 Wu. ......... K-45470X
Ailaflinaiduiudnsdendi juyi aunn 590 Wu. ......... K-45472X
Ailaiinaiduiudnsdnendi gund 2u1n790 . ...K-25265X-YY

o

dadauns: uam

o

eﬁlmqmwmmM@iumm (K-45405X-NA)

o =
ANLAB Y
v oge
nansiusinelaiineiuansonmaluladduganaiadaviiuazainim
Waunaniuadlfedalasnstuazifindsz@nsnniie:
1.%@9% e wazguainenansuinuieuusinnesy iludile
e
0
2.@LL@%ﬂwwmamﬁm%LﬂuqizﬁqLﬁ@lﬁmﬁmﬁmsﬁ@gimmwﬁﬂu
T druFuseazigaainaaiunisguainm leagiade
“n19tingeinE”

T1lsAn99aa0LANNRLNNBURINAR T WA UBNNIAAM

memmwamnmmmmiﬂm@m TsadfiFnndauuziinisleu
mﬂmm@mwr]m\mlﬂnmumifmu'a"mv’\h

Kohler Co.

1180798-X2-D



PART IDENTIFICATION mwuansansaiilsznau

1078289
Cap for Cam

dag 1169312
1E1 69288 D | b @ \ Screw M6*70 1354869
W);]pan ng Lows ang HingeMountingPlate
\ gatseneuunuiy
1081549 N
Suspension Patch
L URUNTZUNN ‘ 1186615
% Hinge Cup
LU

X3

1169269
Screw M5*60
ang 1181128
1081552 Ijandle
/ X A
Circinal Cushion ‘,@ HRAD 110 3.
WNUNANAUNTZUNA
1181228
Small PVC Basket
1081545 T~ -oenk <
Serew M4*30 A7£N31 PVC 16N
Rk
elf Support
) Xz 1180752 7A45UTUIN9TRS
1081544 Big PVC Basket \ D
Suspension % pzni PVG Ty @ 1378728
Bragket RLL 1355205 Right Door
sasriuazifian Right Shelf 1078299 1lsemaan
¥ Y Hole Plug o
FUINNUDIAIUUIN Tnsans 1913306
g Jsrerar " 1355204 s Roller Latch,
\ . Left Shelf C882W,White
1355206 umalrzg Funsesiudne ' qnnduiunszunn
L %hape Metql Suppouft B N v
MANABIATUATN NTIAD L I1-|1::18n1d1le29 1266703
A o Hinge Kohler Cover(L R)
HRAL 70 A, utulald
K-45470X
1169312 1354869
1078289 Screw M6*70 Hinge Mounting Plate
%Jap for Cam ang ﬁ;m TENALUU
ng
1169268 a
Expanding Dowl . ‘
wn \0
1186615
1081549 = flinge Cup
Suspension Patch N

WRRAKNIZUNIN

1169269
Screw M5*60

ang

X
1z
'\\\// .

i\."\
" A 1181128

uarldle
HBAU 110 NN,

welunaNUNIZUNN ) 1181228
SmaILPVC Ba}:sket
l 3 A7en31 PVC 1an
1081545 '
Screw M4*30 1181130
ang Shelf Support
7095UTUINTAY
1180752
1081544 Big EVC Baskgt 1378726 1078299
Suspension nzni PVC luny Right Door Hole Plug
Bracket TLFUIN Uagang
sasiudziiian !
1176058 1176055 121
: 3306
Fixed Door Adjustable sheff (g Roller Latch,
HuLEEg FofUTUNT8Y 1286703 C882W, White
Hinge Kohler Cover(LR)  gnnasnunazunn
ueulaln
K-45472X

1180798-X2-D 2 Kohler Co.



1078289
Cap for Cam
1169268 g
Expanding Dowl
N
1081549
Suspension Patch
o ~
LWHUNUNTELNTN ﬂ
1169269
Screw M5*60
ang
<
1081552 \

Circinal Cushion

LHRNANAWNIZILNAN

1354869
Hinge Mounting Plate

gplsznaunu

1169312
Screw M6*70
ang

&

1186615
% Hinge Cup
LWL
Y
N \
'\ N 1181128

ﬂandle
UaaL 110 WA

N\

A
[

B
1081545 > :
Screw M4730 1181130
ang \ Shelf Support
N FR95UTUINUDY
o, 6 Lo NG
Suspension . ole Plug
Bracket S'th Door lngang
saanuaz N EETN
1414271 1213306
,, Shelf ‘ Roller Latch,
1414270 TUINTB 1266703 CSSEW; White
Left Door Hinge Kohler Cover(L R) ANNAINUNTZLNN
1utleen) urulaln
K-25265X-YY
a &
ROUGHING-IN FEEULAARY
UNIT:mm
PULEL: WA,
450 450
890 590
490 490
K-45470X K-45472X

890 mm Washbasin Cabinet
v ca o o 1 % v
r;j.W\Ifaiuwmmmum\imwuwmm 890 Hu.

*Kohler reserves the right to change marked dimensions without prior notice.
“Plan50899UAN3 Nt dsuulassrarnisinsalae ldAeaudalinsiuananiin

590 mm Washbasin Cabinet
v ca o o 1 % v
raW\Ifaiuwmmmum\imwuwmm 590 H4.

Kohler Co.

3 1180798-X2-D



UNIT:mm
YU0E: WA

450

490 790

K-25265X-YY
790 mm Washbasin Cabinet

Auledilianddniuaeanantiiaunn 790 W,

*Kohler reserves the right to change marked d|menS|ons without prior notice.
*Tﬂ‘mL@@im@mmuwﬂuﬂwLﬂ@ﬂuLLﬂmﬁW ”ma‘[ﬂmmimﬂiummmﬂwmummm

INSTALLATION dauuziinsine

A. Install Washbasin Cabinet . ﬁm?T”qﬁLV\I@%ﬁwﬁzﬁwﬁ?ﬂdNéﬂmﬁﬁ

Install the services. ﬂqﬁ‘[ﬂ[ﬂﬁ]\‘iﬂﬂﬂi‘m

* Connect hot and cold inlets to the inlet pipes correctly. ° ﬁl'aVl'ﬂmi’ﬂuLL@m'ammuslmﬂmm

¢ Install the drain in accordance with the menufacturer’s . mmmmimﬂﬂ{]ummm@LLuumma‘mmmwmmN@m
instructions.

We suggest using P-trap Drain. Connect P-trap pipe with unzth W ldvianuueanuils sadinduvieazfaaaneinandin

washbasin drain. .
¥ o ¥ v 1 ! aa v 1 1 o a
daAn99eds: fAasliiuuladn maalausudasanaing

CAUTION: Make sure a watertight seal exisits on all / i N a9819E19utin

washbasin.

CAUTION: Provide access to the plumbling connections

C famssyd: Ansvtastantingaitennuazeaniunisten
for future plumbling maintenance.

gaszuutlsz

v
a o

Install the hot and cold water supplies with isolating valves. AnmwiatninguanIaIinFauLazINaiiuaananniy

Connect P-trap pipe with washbasin drain.
FavianuLaanNe Wniuviedyaes19anauti

1180798-X2-D 4 Kohler Co.



Install The bathroom furniture feet.

NOTE: The bathroom furniture feet (K-45405X-NA) is not
included.

Install the bathroom support legs as illustrated.
(The figure is for reference only).

Install the washbasin cabinet.

1.Mark the position of hanging bracket according to dimensions
as illustrated.

NOTE: Refer to “Roughing-In” for the wall bracket installation.

CAUTION: Avoid the cables and pipes inner set when
drilling in the wall.

NOTE: Different types of bolts are required for different
decoration boards. Please apply suitable bolts and plugs.

nsnssInseslaitiaes

o o

Hodanm: nanduaflaismunsesineiiiae (K-45405X-NA)

ﬂi:ﬂ@umiﬂq@Wﬂ%ﬁma%mummmm
(MW EE19BI T URAUNIFARTINII)

a :/l v a g
mmmmmﬂMmumm

1. RanAwNAazRnsaNeiialae§1989ansL 8N IR G
AININLAAY

o

v a n’; =< % a o v a n’; ”
dadains: Aaslatalnad1saeinde “seaznisiaF

A

fadann: wanliluaiuaznnlfivunzaniunisfings

v 3 d‘ 3 o o 1 U
fiamnsseds: WanzguuNils szalnsz et lilauans 1w
visavianlezi

K-45470X K-45472X
. 890 | N 590
Wall Bracket { [ [ Wall Bracket
YALUAIURI YALULIUNI
20 20 20 20
S} e e e
= =
450 / 450
Levels Levels
sedT FTAUTN
597 597
320 320
Finished Floor/i
K-25265X-YY
) 790
[ Wall Bracket
YAUAIUNI
20 20
S
= =r
450
Levels
SLALIUN
597
320
Finished Floor/fi1}

Kohler Co.

1180798-X2-D



2. Drill hole for fixing the bracket. Using a level, ensure that 2. 1@nzguuiRdiuRaseunsdn aandulsznauunsdadintunds

the hanged bracket is level. ngaagaLlfiudladn westinlFseiuminiu
3.Use suitable plugs and bolts, and fix the hanged bracket = < vy e o 5 -
3. fianaasalirundalne WiluariuaznnauiamunaN
on the wall. \
4.Remove the washbasin cabinet carefully and put it aside. 4. nanuulregeanadnarelinged

___________,._____
/

Release the lever under the hinge arm to remove.
Uanganfunasunuiuiiananuuilseg

5.Hang the washbasin cabinet on the wall and position 5. wraufieiliaefiunilsazanfuivassesiuasiiou
the suspension on the hanged bracke. .
o = ay sa -
5.1 Loosen the suspension of washbasin cabinet (1). 5.1 aanasasiuazineungineiiliaad (1)
5.2 Adjust the suspension on the hanged bracket (2), 5.2 Wusasiuaziewliinsaiuunetin (2) Wudladnfineitiaed
be sure the cabinet adjusted level. s suwinSunngu

5.3 Tighten the screw to fix the back board of cabinet

o Aﬂl = v ca va o o
appressed to the wall (3). 5.3 mumgmfaﬂmmﬂw@mum@ﬂmmﬂumuq (3)

1180798-X2-D 6 Kohler Co.



6. Mark the wall through two holes at the corresponding
positions.

Drill Hole 8 mm/111A3131% @8 HH.

6. NLATRINNNBUAAIAUMLNG 2 JUUHIT e dneBeriumis

7.Dismount the washbasin cabinet and put aside. Drill holes at
the marked position.

CAUTION: Avoid the cables and pipes inner set when
drilling in the wall.

8. Insert the plug into the wall.

9. Set the washbasin cabinet onto the brackets. Besure
the cabinet adjusted level and the back board of cabinet
appressed to the wall.

10. Tighten the screw, make sure the washbasin cabinet has
been fixed firmly on the wall.

11.Take out the L shape metal from the package and install it
according to its installation instruction.

v Ta '8 b4 oa/’ o 1 dl
7. mfamQLWQiuL@@iLL@zanqiqquj CRRDTEREE R RIP IR
NLATasnNneniiuls

C fiamnsseds: WanzguunNils szalnsz et liilauans |
sariatnglszih

8. aauwnidiiuNida

9. Urznaugieifiaeiiiniuunsauumi faaliiuuladn
filatimefldssAuminiunniou uasurafunasTes
Auladliaefmariuniia

v
o o

10. fuang Wiy neaaeuliuudladindnsagineiiliaadiniin

v
o

11. dnnangUein L Asasnuaiuuzingieanisfng

B. Connect Drainage

Please install the drain assembly and faucet as shown.

Please set the water supply and drainage position
according to the suppliers instructions.

. Install P-Trap
ARAIVIAUINLLLDDNNYS

Finished Wall/uii

Faucgt

Aantn

Supply Lines
U Noteh Vieting
Aanasy U

Shut-off Valve
Maatla-tlatin
Drain Assembly
AVIATINT

Finished Floor/fiu

1 1 0,-’ Q’J
1. ANBUIYIN
NsndnssgariatiifiauazAianindanInugmna
Ansan ez anm LML I8viatnTena AR D UL
NNIAAFIVBIENAR

_Install S-Trap
ARAIVNAUINILULAINY

Finished Wall/uiid

Faucgt
Aanin

Supply Lines
3 ar]
Shut-off Valvg
&a3la-tlain

U Notch
dasama U

Drain éss”embly
PAVIATINT

Ripple Pipe
aeviain

Finished Floor/fi1 ,

Kohler Co.

1180798-X2-D



C. Complete Installation

1.Install the faucet in accordance with the manufacture’s
instructions.

2.Connect the hot and cold water supplies.

3. Attach the waste pipe, and tighten securely.

4.0pen the hot and cold water valves and check the supply
connections for any leaks.

5.Run water into the washbasin or vanity top, and check the
drain connections for any leaks.

6. Install the washbasin cabinet door or the drawer of cabinet.

A. N3RAF WiaNYsn]

v v
o o

1. ﬁmmﬁ@ﬂﬁﬁmw@ﬁ@LLuzﬁﬂmaﬁmmmmt’g‘mam

2. fiavieriteuLazyien iy

3. 1sneumietingia

4. Lﬂmfi]’m’qﬁyﬁ’éﬂuu,mma'qfﬁLﬁu {ilansaageunsFTa
mNdasiasie]

5. \1lanasa9@nantin-anadneile iensagaun135aTs
v 1 1
pndiasiasingeg

6. Ansauulssdiniuginestiaed

Place the hinge on the mounting plate and push the back of hinge arm
down. The “Click” sound confirm a secure attachment.

ANt e itiiaed aantiunadgutlanareauuiu lif unas
wuuugALsTneuLIURLAAARE “ARN”

&)

I‘%
(@ &

Adjust all the hinges of door in three-way. Be sure the washbasin cabinet doors are level.
dfuangumuaeslseaivaiuiianig Tudladrunulses lsemumnainu

1180798-X2-D 8 Kohler Co.



7. Install the handle, then tighten the screws to fix the handle

appressed to the cabinet.

CARE AND CLEANING

1. Many cleansers contain abrasive and chemical substance

which is not suitable for cleaning stainless steel, enamel,
plating or plastic products. You may use mild cleansers or
soaps to clean the surfaces. Wipe any splashes of cleaner
solutions from the surface with clean soft cloth.

. Maintain ventilation in the bathroom, and separate the dry
area from the damp one if conditions permit. Try to open
the door and windows of the bathroom and maintain good
ventilation.

. Kohler bathroom cabinet are dealt with strict procedures for
damp-proof, whose good damp-proof function ensures good
performance even in bathroom of huge humidity. Yet do not
splash and pour water directly on thebathroom cabinet.
Make sure that the bathroom is not over damp and wipe any
splashes from surfaces immediately.

. Clean and wipe cabinet regularly, and wipe the condensation
vapor with dry and soft cloth.

. Ensure that electrical connections for appliances such as
head lamp is insulated wipe mirror surface with chamois
regularly to guarantee the persistent excellent performance.

. Please do not sit, lean or step on the basin cabinet.

A o A A 2 A o Yy ooy ea -
7. ﬂ?zﬂﬂuﬂﬂ@uqqﬂuuﬁlu@ﬂgLW@ﬂﬂll@"ﬁ.lLmqﬂU@JLWﬂﬁ‘umﬂ?

NTALATNHILALNITINAINAEAIA

1.

HARSTUTTINAYNAYEIALNLsTINN AT AR AN TENEN AR UAY
anshdlgvsinnseudslimunzdmiiuiiainazenn wa 6 Tl
aunuiag auwa Tane vgananasin seuuztin 19 lEnandmaiin
AuazamiTeafitignagden) inAnuazgaulaudnsTl
dinnsunaniueinANazeaAnAsuLiuRafa i

iesthazfiasiiannaiiamiiess wendauuisuasdaydan
aananil winin linenenudalszauazuiisinadiasiiie
FTUNHBINA

fileiiiaaitiasinaaciaiiaaiinmuantmtaiuaonmy vl
uiplalinalsg@nsnmnisinanuiseadion wdlfule
HeatniANTUge adnvlafiniy etna1aUTeLNINAILY
filaitiaeilnense nevaaauliuiladn desynladauawiuly
WAz EANARAUTANNIAINATEIAYTEATILLNEENAINNUEY
HARSTUITIUD
dnipanazengimaiiiwefiiudszanuazidaliuissioatngy
NNATIVAY U

fasliiuwiladn finayouaieinaesguneniliin wu Tanl 1a
invinAonaraauianiunszanfaatinmadog

] nl/ a A = 24 ca o
BDEUTUN, NI UTB mwuuumﬂLWmumm

Kohler Co.

1180798-X2-D




1180798-X2-D 10 Kohler Co.



Kohler Co. 11 1180798-X2-D



KOHLER

ASIAN EMERGING MARKETS

Asia Customer Service Centre, Kohler Asia Pacific Limited

No.158, Jiang Chang San Road, Zhabei District, Shanghai, PRC. 200436.
Tel: +(86) 21 2606 2572 Fax: +(86) 21 6107 8900

KOHLER (THAILAND) PUBLIC COMPANY LIMITED
16" FL. Jasmine City Bldg., 2 Soi Sukhumvit23, Sukhumvit Road, Wattana, Bangkok 10110 Thailand
Call Center Tel. +(66) 2700 9299 Fax.+(66) 2204 6224

usunlariaes (Us:inAlng) $1ia (Unisu)
BU 16 oxmsvatu 50, 2 voggyudn 23 nuuadudn Iwdonaoviagikto wadwn nsoinw< 10110
anAmaduwus Tns. 02700 9299 Insans 02204 6224

E-mail: callcenterthailand @ kohler.com

1180798-X2-D



